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PAST YEAR QUESTIONS AND ANSWER

S

study of mankind in the ordinary business of life’ was

(b) Lord Robbins
(d) Samuelson
4.3

(1 mark)

4.4 Scanner CA Foundation Paper - 4 (2023 Syllabus)

Answer:

{c) ‘Economics is a study of mankind in the ordinary business of life’ is
the welfare definition given by Aifred Marshal.

[2] The branch of economic theory that deals with the problem ot allocation

_of resources is : = S
gmaozoinm (b) Macroeconomics
\(c) Econometrics {d} None of these {1 mark)

Answer:

(a) The study of microeconomics deals with how a producer allocates
his resources and fixes the price of his product for the optimum
utilization of resources.

(3] Capitalistic Economy uses

as principal means of allocating

resources.

- (a) demand . (b} supply

f\e& price (d) all of the above (1 mark)
Answer:

(c) A capitalistic economy is characterized by the absence of state
intervention. This economy uses price mechanism (forces of
demand and supply} to solve their basic economic problems.
Demand and supply both depend upon price and therefore

capitalistic economy uses price as principal means of allocating
resources,

2007 - FEBRUARY

|

(4] A mE% of how an increase in the corporate income tax rate will affect
the natural unemployment rate is an example of:

j Macroeconomics (b) Descriptive Economics
{c) Microeconomics (d) Normative Economics ({1 mark)
Answer: ‘

(a) Macroeconomics studies the economy as a whole. Therefore,

increase In corporate income tax rate and its effect on
unemployment is at the macro level.
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57 In which type of economy do consumers and producers 3»:»3@:
" choices based on the market forces of cemand and supply?

(a) Open Economy {b) Controlied Economy

{c) Command Economy (0] Market Economy (1 mark)

Answer:
{d) In a capitalistic economy, producers make their choices based on

marke: forces of demand and supply. The capitalist economy works
uncer the price mechanism l.e. prices are determined by free
interpiay of dermand and supply forces. A capitalist economy is also
krow~ as Market Ecoromy.

§! Uncer a free economy, prices are:
(2] Reguated
b Determined through a free interplay of demand and supply
{c} Party reguiatec
{d} None of these ) (1 mark
Answer:
(b) Under tre free economy (capitalist economy) prices are determined

by the .38 ar the market mechanism i.e. there is no authority to
getermine prices but they are decided by forces of demand and

Whicn of the following *alls under microeconomics?
‘ngnﬁ.& Income {b} General price level ;
Factor pricing (d) National saving and investment
| (1 mark)

<) QQMMMMH%W; the economic behavior of individyal
soonemic units. Factor pricing ie prici _
8 koo | g & pricing of every factor, and hence

4.6
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crease their purchasey

in
when Coneumers then prices terd 10 riy

free-market economy, ‘ : |

. ”w_._@m de and the level of _____ exceeds oL
(K\W@Bm:a. supply {b) supp «.mc o o il
(c) prices, dermnand (d) profits, supp :
i gconomy prices are determined by mark

_No

(a) In a market (capitalist)
forces of demand and supply.

increases, the supply remaining t

07 - NOVEMBER

When the demand for @oﬁw

[9] Under the Inductive method, the logic proceeds from :

(10}

(a) Genaral to particulars @\93\

(c) Both (a) and (b) (d)
Answer:

he same, the prices of goods rlg |
v
Particular to general
None (1 man

{b) Under the inductive method, conclusions are drawn on the basis|
collaction and analysis of facts relevant 16 the inquiry. The log
proceeds from particular to general. The generalizations are base

on the observations of individual

According ta.Raobhing, ‘means’ are:

Scarce (b)
(c) Undsefined (d)
Answer:

(a) Robbins in‘his definition of scarc
wzam ?_\m:”mg and limited means
i nature and have altemative y

examples.

§

Unlimited
All of these (1 mank.

ity explains that there are unlimite
(resources). Resources are limite
ses.
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[11] Economics is the study of :
(@) How saciety manages its unlimited resources
(b) How to reduce our wants until we are satistied
dor Flow society manages its scarce resources
{d) How to fully satisfy our unlimited wants.
Answer:
{c) Society has scarce resources and unlimited wants. Economics isthe
study of how to manage the scarce resources to fulfill the unlimited

ends. Economics deals with how to make optimum utilization of
scarce resources.

12} A mixed economy means:
(a) Co-existence of small and large industries
{(b) Premating both agriculture and industries in the economy
{c) Co-existence of rich and poor

&9\ p-existence of public and. private sectors
Answer:
(d) Mixed economy is characlerized by the presence of both the private
and the public sectors. Under this economy prices are determined
both by planning authority and market forces.

(1 mark)

(1 mark)

3] Who defines Economics in terms of Growth and Development?
fa} Robbins {by Paul A Samueison :
{c} Adam Smitn (d} None {1 mark)
Answer; i

(b} Economics in terms of Dynamic Growth and Developmentwas given
by Paul A. Samuslson. Who slates that “Economics is the study of
how men and society choose, with or without the use of money to
enjoy scarce productive resources which could have alternative

4.8 Scanmer CA Foundation Paper - 4 {2023 Syllabus)

uses, to produce various commodities over time andg to distribute’
them for consumption now and in the future of amongst various
people and groups of society.

[14] A Free Market- economy, solves its Central Problems through

(a) planning authority r\aﬂ market mechanism .
() both (d) none (1 mark)
Answer;

(b) A free market economy also known as a capitalist economy, has no
central planning authority to decide what, how and for whom to
produce. Such an economy uses the impersonal market forces of

demand and supply or Hjm price mechanism to solve its central
problems.

[15] Normative aspect of Economics is given by :

/S\zmajm__ (b) Robbins
{c) Adam Smith (d) Samuelson {1 mark)
Answer:

(a) Normafive aspect is concerned with welfare propositions. Such an
aspect of economics is prescriptive in nature and describes ‘what. -
should be the thing’. Example, the question like what should be the
level of national income, how the fruits of national product be

distributed among people. An aspect of economics given by 'Alfred
Marshalf’.

[16] Which one is not the characteristic of a capitalistic economy?
(a) Profit motive xb) Income inequality

(c) Free employment %Vno_‘mﬂzm ownership (1 mark)
Answer:

(d) The characteristic of collective ownership does not belong to-

capitalistic economy. The characteristic of collective ownership is
that of a socialistic economy where the entire control is of the
Government.

o
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cal Authority
urs
d partly by

17] Mixed economy means
:& All economic decisions are taken by the Om.u:q%&:m
(b} All economic decisions are taken by Y_«Em:m vl
{ v Econamic decisions are parily tsken by ¢
private entrepfensurs
{d) None cf these
Answer: .
(c) A mixec economy is characlerised by
and pubiic enterpnses. In this economy, :
private smarprises, exst and hence mmoch:.o
by the government and private enterprises both.

(1 mark)

he presence of both private
the government as well as
decisions are taken

18] Capisalistic Economy uses S as principal means .of allocating

rasouroes.
{a} cemanc

% oce
\VAnswer:
Same as Answer 3
15} Economic Problem amses when -
{a) Warts are unfimited
{b} Resources are Ermed
] Al of the above
Answer:
d) Economic problem ari
@ _mawmaowwn i m.ﬁnm i..ﬁ: wants are unlimited, resources are
“irogs have alternative Uses. These reasons giverise

Scmmamg%n mdc_m .s&.&
& : _ : sm oﬁ 1 “
and “For whom to progice*. 10 produce”, “How to produce”

(b} supply

{d) all of the abaove {1 mark)

(1 mark)

h | 9178 £ LT

Y ol G

5 as WY .
s also knowr price theory
(dy demand theory

e
. e T e
s
St

ecONOMICS £
blic economics
(c} income theory

Answer: :

X ics is also kn i : ;

{b) Micro mmonoﬂ Mwi uses _____ technique in production.
D capital intensive

[20] Micro
(@) pu

(1 may
own as Price Theory. (Self Explanatory

[21] A develope /
(a) labour intensive

(c) home-based ,
Answer: .
have more of technology so they use capit

com<m_omamoo:oammm . -..
:@_.,.m:m_.%m techniques in production to minimize the cost g

production. :
[22] Which one is the feature of Marshall's d

(a) Limited ends

(b} Scarce means
o Study of wealth as well as study of man
{d)} Study of allocation of resources

Answer:
(c) Alfred Marshall clearly pointed out that economics is on the one si¢

a.study of wealth and on the other and more important si
of study of man. portant side a pa

{d) traditional (1 man

efinition?

(1 mar

e ——— e ——
i

| 2010 - DECEMBER

[23] Which one in the fallowing is not correct -

LAW There are limiteg wants
(b) Means are scarce

{c) Resources hay i
-Nave alternative y
(d) Economics is science 5929
Answer:
(m) “ooo_dim 10 twa fundamenta; facts, h
ants and the mearig ormmam?._..m »Tm

(1 mark

uman beings have unlimites
wants are scarce,
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4] Micro Economics is concerned with:
{a) Consumer Behaviour (b) Product pricing
Jo) Factor Pricing rg of the above
Answer:
{d) Micro-economics is concerned with:
(it Product pricing
{iiy Consumer behaviour
{#i) Factor pricing
{iv) Economic conditions of & section of the peopl
{v) Study of firms :
{v) Location of an industry

(1 mark)

5] Who gave the
{al Affrec Marshal ®)
{c} Adam Smith
Answer: :
{d) A positive or pure science analysss cause and effect relationship

betweon variables but it does not pass value judgments. This
positive @speci of science was emphasized by Professor Robbins.

31 A mixed economy means :

& Coexistence of both private and pubdic sector
{b} Coexistence of poor and rich peopleX -
(c) Both (a) and (b)

{d) None

Answer: ,

(8) A mixed economy is an economy that includes the best features of
both the controlled economy and the market ecanomy. The most
important feature of a mixed economy is the co-gxistence of both
private and public enterprises.

" Which of these is a part of microeconomics?

Factor pricing (b) National Income

{c) Balance of payment (d) None

C. Pigou

Robbins (1 mark)

1 B.m:c.

(1 mark)

4.12 Scanner CA Foundation Paper - 4 {2023 Syllabus)
Answer:
(a) Microeconomics is the study of the economic behaviour of an
individual, firm or industry in the national economy. It is the study of
a particular unit. Factor pricing relates to the pricing of individual
factors and hence is a subject of microeconomics.
[28] Which of these is an example of Macroeconomics &
{a) The problem of unemployment in India
(b) The rising price level in the country

. (¢) Increase in disparities of income
é of the above

Answer:

(d) In macroeconomics we study the economic behaviour of large
aggregates such as overall conditions of the economy, total
‘production etc. Therefore, all these are a subject of
macroeconomics.

{1 mark)

| 2011 - DEGEMBER

* [29] In a capitalist economy the allocation of resources is performed by:

{a) Producers {b) Govemment .
{¢) Planners: /\@\ Price mechanism

Answer:

(d) A capitalistic economy has no central planning authority to decide
what, how and for whom to produce. Thus, the allocation of
resources is performed by the market forces of demang and supply

" known as price mechanism.
[30] Which of the following statements is incorrect?
n@\hzsa Marshall propagated the wealth definition of Economics

() Samuelson emphasized upon the "growth" aspect of Economics
{d) A.C Pigou believed in the "wellare® aspect of Economics (1 mark)
Answer: . v | :

(a) The ‘wealth’ definition of Ecanomics was given by AdSr

JB Say;

(1 mark)
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SONOMICS with welfare p . )
[Chapter - 1] Nature and Scope of Business EConomic P Answer: .z,c economics i8 omw,wommmo“ﬁ does not deal with tacts b
of the wealth 0 Norma the 1hings- f economics |
w *An inquiry into the nature and causes of the () slates “what wsﬁ_ﬁpﬂ-ﬂwaﬂm. The ethical aspect O | 84
| nations” ~ Acam Smith £ : involves value jud ; =5 .
_N “Sclence which deals with wea'th” - JB mﬂa\, n __o ormative @conomics. be the wage rate level? This is a normati,
S I - 3;&%5%9?890@ my | Example: what should
el socialism (b) mixed &c (1 mark) %, .
\ ! e terment. o . ‘
(©) captals (dl none v agewwm_ system of pricing ax_QmA_ﬁv Socialistic economy
h.w ﬂﬂt“n_!»«i equality of ncome is an important feature of a moQow__.MMM (a) Free market economy (d) None of the above (1 mar
\ , ot V ’ njoyed more ixed economy.
aconomy. Ecucations’ and other (acillies are enjo ,\i_xm .
equaly. tus the basic causes of inequalities are removed. Answer: is a type of economy which combines the featun
: . . Aﬂv A mixed 0.8303< d MOO_N__QSD economy. In this economy, 5
g e o%;w__a.a__.w% exists i.e. prices of essential commodities a:
o dual system ot pric L. ; ices of ofh
: the feat economy? : : government while the pri ; el
~§E§ of the 1oflowing are the features Q\. ixed my anmzs_:.m.a by Sma no. e i A TR interaciont
@ _Planaed aconomy . commodities are fixed by the pri
) g%qﬁm@ N— ‘ demand and supply) =
ic; Belanced regional ceve! the Inductive method, logic proceeds from:
a\av\ Al of the above. : (1 mark) @mv General to Particular &p¥ Particular to General _
S ot () Both (a) and (b) (d) None of these. (1 mar
{d) An econamy that incomporates the features of capitalist and socialist PN
) e economies | . . It has the followi J , : : .
“&” - e wamea di L e (b) Under the inductive method, conciusions are drawn on the basis¢
(a) Amixed economy is & planned economy where the government collection and analysis of facts relevant tothe inquiry. Here the logt
has & clear ang definite economic pian, o proceeds from particular to general, This means generalizations at
{5} Ir 2 mixec economy, the arices are determined both by price made based en facts collected.
zhagﬁngs authority. Hence adualsystem  (36] I a capitalist economy, allocation of resources is done by:
ic) Thereisa Emwmmo regio : MMW MWM =i (b) Government
of e - ui!.:ma ..Qn«\ Price mechanism {1 mad

A&_zmomv_ﬁ_mﬂ €conomy, there is no government intervention. tn th
Sconomy, the resources are

allocated based on the demand of th
consumers. Producers wil; produce th oods whi "
demand without ﬁs_:x.so ab S .

out the public [fare. his
eeonomy is guided by the price oy welfare Im:om.,.n

(Ct

[=

(37

]
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{40} A capitalist econamy is by and large
{a) a closed economy
. PERIE . ,\c&\ a free market econcmy
I7IAC ist Ecoromy foliows the poiicy of: (c) a centrally controlied economy
ar L zissez- faire {b} Regulated markets . {d) an economy in which a government neither ‘collects any taxes nor

fc} Promoting public sector {d} None o the above. {1 mark) incurs any expenditure {1 mark)

Answer: , Answer:

{a) One of the guiding principles of the capitalistic economy is that the (b) A capitalist economy also x:oi: as free- market economy has no
economic system should be free from government interventions central planning authority to decide what, how and for whom to
ard be driven by market forces. Laissez- laire means allow to pass. produce. Such an economy uses the impersonal force of the market
Thus, the capitalistic economy follows the policy of laissez- faire. : demand and supply or the price mechanism tc solve its central

{38] ‘Economics is the science of E rplies:- probiems.
{a) choice is to be made
pv..&wqom choice to be made between alternative

{c) The choice to be made between means and ends : 2013 - JUNE
{d) None of the above . (1 mark) =
Answer Néductive and Inductive methods are complementary to mmn: other. It
{b} Robbins gave the following defnition of economics — % £ -
nmoosﬂaﬁm is the science which studies human behaviourasa Absolutely correct (b} Absolutely incorect
ﬁﬁ%ﬁ&»ﬁ%ﬂmﬁamggsmm:mi;g:mcm alternative (c) Partially incorrect @ None of the above (4 mark)
Thus, economics is a science of choice which is to' be made AL

(a) Deductive and inductive methods are not mutually exclusive andare

between altemative uses.
used side by side in any scientific inquiry. Conclusions drawn from
39] Which o._“m Mﬁ following is a part of the subject matter of macro the deductive method of reasoning are verified by the inductive
{a) Study of firms method of observing concrete facts of Iite. Thus, if can be said that
{b) Aggregate profits of a firm Deductive and inductive methods are oo.:n_n:_o:g to each other
{c} Market demand for a product is absolutely correct.
é\z&égo:m_ néncﬁ : (1 mark) [42] A freg» market economy's driving force is:
rofit motive
A& In macroeconamics, we study 50 economic behaviour of large (h} Welfare of the people
aggregates such as overall conditions of the economy, total (c) Rising income and levels of living e
production” etc. Out of the given options, only NNP studies the (d) None of the above Ak

nationa! income which is related to the entire economy.
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i oy i in which all

(a) A free market economy or a capitalist economy is one in wi g
the means of production are owned and oo::o__m.a.g n:,BN
individuals for profit. Thus, the profit motive is the driving force o
a free market economy. .

43] " iCS is neutral bétween ends”. The statement is given by:
} L. Robbins {b) Mrs. Joan
(c} Affred Marshall (@) A.C.Pigou (1 mark)
Answer: :

{a) According to Prof. Lionel Robbins *economics is neutral between
ends® Ends refer to wants. Human wants are unlimited. When one
wanl is satisfied, other wants Crop up.

- 44] A system of economy in which all the means of production are owned
and controlied by the private individuals for the purpose of profit is
called: .

(a) Socialist Economy \AB] Capitalist Economy

(c} Mixed Econcmy (d) All of the above

Answer: : :

{b} Capitalistic economic System is one in which all the means of
production are owned and controlied by private individuals for profit.

In this system, the government does not interfere in the
management of economic affairs.

{1 mark)

45] Wh does te price mechanism exist?
- Mwﬂuwhﬁ mow:oa, (b} Socialist Economy ~
ypes of economi .
e Omies  (d) None of the above {1 mark)
(a) m mvﬂnao economy has no central planning authority to decide
._8@33% waa for whom 1o producs, This economy useg the
.§ ,oamm & the market demand ang SUpply or prj
M 10 50ive jtg central problems, =

. - 4 (2023 Syflabyy
n Paper
scanwer CA Foundaliol sy

Ve e T
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3 is called
: c;m_wm:n economics
Normmative economics

h is concerned W

[46] Econgrnics whic (b

ocialistic moo:o.B_om
c) Positive economics

Answer:
(d) Normative aspect

(1 mag

iti Itinvol
ith welfare propositions. | Vey
is concerned with W scribes
” ;a_ it is prescriptive In nature m:a_Mwm# of :m%:m
oy E%m_ﬁ..:mmﬂzrmm. E.g. what should be the 1ong)
be j
mzoﬁw what should be the wage E.m._.. el oo,
ﬁ%wm z..o::m:,\m economics IS SJ %Mm.%msﬂ to property’ exists
; : ing systems
[47] In which among the following m%S\Omu:m:& e
(a) Mixed economy d) Traditional economy
{(c) Socialist economy (d)

M_,uﬂmmcmﬂa_aa is an economic system in ...a:_o:. m__ . wsm | Jomza of
production are owned and controlled by private _:.n_s_ uals tor profit
The right of private property means that Qoa:o:sw factors such s
land, factories, machinery, mines etc are under private ownership,

The owners of these factors are free to use them in the manner they
like.

Thus optlon (B) is correct.
Em._LMVEé science only explains

(1 marg

What is?

{c) What is right or wrong
Answer:

(b} What ought to be?
{d) None of the above -

between variables but it go
what is and not what ought to e,

..ﬂ:.cm. Option (A) is correct.
[49] Am_wvo.m_ ist moo:os< is also known a
a) Mixed moosoa< (\%A
sl : entrally Planned Economy
x _” asaw .m__a Economy (d) None of the aboye (1 mad)

(b) Socialist economy is algg known
cmn,mcmm there s central
Socio-economig goals.

as centrally planned econom
authority 1o 88t and accompls’
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3] Which of the following is not a feature of a capitalist economy?
{a) -Right to private property
%mm:ﬁ&nm on consumers right to choose
{c) Profit motive
{d) Freedom of enterprise
Answer:
{b) The features of & capitalist economy are:
{1) The right of privaie property
(2) Freedom of enterprise
{3) Freedom ic choice by the consumers
{4) Profit motive .
{5) Competiticn
{€) inegualities of income
Hence, restrictions on consumersrightto chooseisnctafeature
of a capitalistic economy.
] The term “Mixed Economy” denotes: :
(a) Co-existence of both consumers and producers good's industries in
the economy.

(&Y To-existence of both private and public sectors in the economy.
(c) Co-existence of both rural and urban sectors in the economy.

(d} Co-existance of both large and small industries in the economy.
(1 mark)

{1 mark)

Answer:
(B) The term “Mixed Economy” denotes the co-exjstence of hoth

private & public sectors in the economy. In fact, in a mixed
economy, there are three sectors of industries:

{a) Private sector

{b) Public sector

{c} Combined sector

4.20 scanner CA Foundation Paper - 4 (2023 Syllabus)

2014 - DECEMBER

[52] The most important function of an entrepreneur is to ; ‘
Lty innovate (b} bear the sense of responsibility

(c)y finance {d} earn profit {1 mark)

Answer: :

(a) An entrepreneur is one of the factors of production. He is the one
who co-ordinates with other factors like land, labour, capital, etc.
Various functions of entrepreneurs are decision-making, managerial
function, organizational functions, etc. while the most important
function of an entrepreneur is to innovate.

@ Under Inductive method logic proceeds from:

“~—"(a) General to particular () Pasitive to normative
(c) Normative to positive /\ﬁ&\mvmao:wma to general
Answer:

{d) Under inductive method cenclusions ‘are drawn on the basis of
collection and analysis of facts relevant to the inquiry. The logic in
this case proceeds from the particular to general. ’

{1 mark)

omea

2015 - JUNE

[54] The meaning of time element in economics is:
{a) Calendar time
(b) Clock time L :
/M.&\Ovmqm:o:mﬁ time in which supply adjusts with the market demand
{d} None of the above (1 mark)
Answer: . :
~ (e) Operational time in which supply adjusts with the market desmand.
[55) Al wants of an individual are not of:
oy Equal importance (b) Immediate importance
{c) Fixed importance: (dy Al of the above
Answer:
(a) Allwants of individuals are nat ol eq
futfilled.

(1 mark).

ual importance as ali cannot be
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[Chaptar - 1] Nature and Scope of Business Economics b .
) tatem .
(59] Find out the correct s m.o..zQ o quay demarrded of a product iy,

% ... ... sancther rame O.EEB (a) Higher the prices.
C ISO-Product Curve : : ment
5 Mmoo @ Dmin ‘ rLg%so ey cs are interdependent

{ ransformation Curve (d) Diminighing Utility Curve fa.y Smowo-mooso.é .
(&\q ‘ (1 mark) v _:_Moomuzm_mmﬁ economy, the economic problems are wo.<mas

(c i
Answer: :
lanning COMIMISSION W
(e} PPC is also known as Production Possibility Curve, Production & _ﬂm%mq:@ﬂzm method logic proceeds from particular 10 the mw:mé
Passiodity Bouraary, Transformation Line/Curve. : ( Mark|
Answer: ) ;
H&Em . Dmug :uﬂ. Micro and Macro Economics are interdependent on 8ach oty
because they both play @ vital and in most cases they piay,
571 Who ‘s the author of “The z&ﬂu&%ﬂe of Wealth of Nations™? complementary role Ex. National income cannct grow unless
o b Adam Smith  production in individual firms and factories rises. :
B & A C P (1 mark) 160 Which of the following illustrate a decrease in unemploymant using t
R— PPF?
s b B v o . . . {a) A movement down along the PPF
Althoug* the activity of acquiring and increasing material wealth is {b) A rightward shift of the PPF
MM%WMM@MMMMJMQMMQ.@QS Wﬁﬁmﬁwwﬁwqﬁﬁﬂzﬂﬁﬂaan {c) A movement from a point on the PPF to a point inside the PPF
Smith, the father of Economics, published “The Nature and Causes \{3¥"A movement from a point inside the PPF to a point on the PPF
of Weslth o’ Naticns”. . e : _ {1 man

ics does not study

benavior  (b) Factor pricing () Amovement of point inside PPF ta on the PPF indicates the acu:

Genera!' orice ieve! (d} Firms equilbrium. . (1 mark) growth in an €conomy and wherever there is a decrease
“Answer: . - unemployment, it shows that”an economy is making progres
{e) Microecanomics is the study of parficular firms, parficular: towards growth by aptimizing its full resources.

households, incivicua' price, wage income, individual industries and ‘

particular commodities.

We mairty study the following: :

1) Factor Prigi

(v} moo:oa&.ahwaao;mi . ne economy as a whole

ons of a section of the people {c) Choice making————

{v} Study of firms
{vil Location of industry (¢) Development of the economy
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Answer:

(a) The term microecenomics is derived from the Greek word mikios,
meaning “smalf". In microeconomics we study the economic
hehaviour of an individual, firm or industry. It is thus a study of a
particular unit rather than all the units combined.

;2] Freedom of choice is the advantage of

/wvw\ Capitalism

{a) Socialism
{c) Mixed Econcmy {d) Communism (1 mark)
Answer: :

{b) Freedom of choice is the advantage of capitalism.
i3] The definition of econamics given by Robbins does not deal with one of
the following aspects. Indicate that
{a) Scarce means _.
{c) Alternative uses
Answer:
(b) The definition of economics given by Robbins does not deal with
limited ends as in the definition, he deals with unlimited ends.
/4] An economic system in which all means of Eo\acnmos are ownsed and
controlled by private individuais for profit is called:
{a) Mixed Economy {b) Socialist Economy
,\E\mmuxm__.ﬂ Economy (d) Developed Econamy
Answer: - .
{¢) A capitalist economy is an economy system in which all means of
production are owned and cphtrolled by private individuals for profit.

Limited ends
- (d) Econamics is a science {1 mark)

A.,_ Bwﬁxv

2017 - JUNE

i8] In which of the following methods conclusions are drawn on the basis of
¢ollection and analysis of facts?

O

4.24 Scanner CA Foundation Paper - 4 (2023 Syllabus)
{(a) Deductive method
ey Inductive method
Answer:
(c) Inductive Method: Under this method, conclusions are drawn on
the basis of collection and analysis of facts relevant to the inquiry.
The logic, in this case, proceeds from particular to general, The
\oo:m_.m__Nmzo:w are based on observation of individual examples.
Thus, option (¢) is correct. :

(b) Scientitic method

(d) Experimental method. (1 mark)

[66] Which Economic System is described by Schumpeter as ‘capitalism in

the oxygen tent'?

(a) Laissez-Faire Economy
Mixed Economy

Answer: .

(¢) Mixed economy is described by Schumpeter as “Capitalism in the
oxygen tent". According to him, 1t is only & trick of the capitalists to
cheat the working class by offering them some temporary
advantages like social security, upliftment of the depressed classes
etc. Thus, option ¢ is correct.

{67] The production Poss bilitk Cuive (PPC) is also known as:

(a} Indifference Curve (b} Supply Curve

%\q ranstormation Curve (d} Demand Curve.

Answer: ‘

- {¢) The production-possibility curveis also known as the transformation
curve. It is a graph that shows the ditferent rates of production of two
goods that an individuat or group can efficiently produce with limited
productive resources. .

[68] The Central problem in every gconomic society is:

{a) To ensure a minimum level of income for every individual.

% o allocate scarce resourceés in such a mannef thal society,s
unlimited wants are satisfied in the best possible manner.

(c) To ensure that production occurs in the most efficient manner.

(d} To provide job to every job seeier. (1 mark)

(b} Command Economy

~ (d) Agrarian Economy. {1 mark)

(1 mark)

"
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: 4.05 4.2
! - : pe of Business Economics . il
mﬁzmvnwiuﬁ« ki [72] I Indie, Mixec mwo%%mﬂ“m MM%.om_. Mﬂa private sectar
_ existence 0 ‘
Answer: ic system, be it capitalist, socialist or mixed, has to MNW ,n:m_s Jual forces of demand and supply
iy M ﬁasw%om..mm?%mm” .u“.,‘_vc_ms of scarcity of resources relalive 10 . (c) orders by government ” -
twm.a forthem. The o_mnxm. @conomic problem is further divided into (d) None of these.
fou i mic problems. Answer: u
%M meMM.QS:oéo. | (a) There are three types of economy. These are

() What to produce
{t) How to produce
(ii} For whom to produce . .
What provisions (if any) are te be made for economic growth?

itali i terprises)
Capitalist economy (private en

MNW moMm__.mﬁ economy (governed 9« mo«.m_.:,._ﬂmdc

{c) Mixed economy (public and piivate mamiq_mmmv 30

Mixed econoemy means a co-relation or co-existence of public gy
A rivate sector. . - -
[73) ézw: scononmiic system is described by Schumpeter as capitalisminth,

oxygen tent?

(a) Laissez-faire Economy (o) Command Economy

89) alist Economy was propounded by:

7 Kari Marx (b) Samuelson Mixed Econamy : (d) Agrarian Economy {1 mar
(© AC. Pigou {d) Adam Smith (1 mark) Answer: ,
Answer: :

{¢) Mixed Economy is described by Schumpeter as ‘capitalism i

(@) Kard Marx gave the theory of socialist economy. Oxygen tent'. According to him it is only a trick of capitalism to chea

70] Concent of Business Economics was given by: v the working class by oftering them some temporary advantages like
- _is¥Joel Dean (b} Alfred Marshall P~ m.oo_.m_ security, uplittment of depressad classes etc, -
{c) Acam Smith (d) L. Robbins - {1mark) [74] Capitalistic Economy uses as principal means of allocating
Answer: _ ] resources: .
_..\&) Concept of Business economics was given by Jael Daan. (a) demand (b) supply
71] Features of the book weakh of nations; {c)-rrice ; , (d) all of the above (1 ma
(@) it was tne first book written on economics nswer: o "
o) 1t was created i , : T T
Mn.w . s&“o §oﬁuwm —— (e) Price is principal means

cipal of allocating resources in a capitals
{d) Al of the above, Bconamy while it is not SO

_ : e [ & socialist economy, Price Mechanisn
Snsmr- (1 mark) o 's a characteristic is capitaist sconamy.
(d) Adam Smith; was the ¢ . nder inductive method Ig ic pr :

i Omcmomm ather of m8:oa,.om\.xm wrote the baok ‘the 9i¢ proceeds from:

(&) General to particular b o y
Posit

. This ccOx was {c) Normative 1o positive (b) Positive to narrative

8conomics in ‘An

(d) Particular to general {1 markl
and Causes of wealth of nationg

of Wea! ions’
3180 kKnown a5 ‘Wl of -0 NAtIONS' in 177g
_DDC_Q _.a~0 g zmhﬁﬂm

[7i

(78
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Answer:

(d) Inductive Method s based on facts and in this method logic
proceeds from particular to general. While deductive method is
nased on assumptions and in this, logic proceeds from general to

in response to satisfy their wants?
(o) Limited
(@) Mutltiple

(1 mark)
Answer:
{a) ‘Human beings have unfimited wants and the means to satisty these
Jnfimited wants are relatively scarce’ form the subject matter of
[77] Price Mechanism is the main feature of which economy?
{a) Capitalistc Economy {b) Mixed Economy
{c) Socialist Economy {d) All of the above

(a}

{1 mark)

itaiism is sedf- regulating and works automatically through the
price mechanism. g

{c) Micro Economics
Answer:

{(b) Business ecoromics, also referred fo as managerial 6CONOMICS,

generzly refers 1o the integration of economic theory with business

'79] A business economy involves the theory of Business. economics with

{1 mark}

/333 practices

{d}) Macro Economics

{a) Normative Economics

{c} Micro Economics

Answer:

{b) Business economy Involves theory of business with business
practices. (application of theory)

(1 mark)
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[80] Which is not included in Economics?

_4aS Family Structure (b) Managerial Economics
{c) Micro Economics (d) Macro Economics
Answer:

(a) Family structure in no sense effects economics, therefore, it is not
included in economics.
[81] Business Economics involves the elements of:
{(a) Micro Environment (b) Macro Environment
ef"Both (a) and (b) (d) None of the above
Answer:
(c) Business economics involves the economy as a whole and
therefore, elements of macroeconomics and microeconomxs are
_included in it.
[82] In which economy market and government botn play animportant role?

(1 mark)

{1 mark)

v {2 Mixed economy — (b} Socialistic sconomy
(c) Capitalistic economy {d) Business economy {1 mark)
Answer:

(a) The mixed economic system depends on market and govemment
for allocation of resources. Infact every economy in the real world
makes use of both market and government and therefore is mixed
economy in its nature.

[83] Which tactor is included in business Economics?

(a) Business Economics is an arl

() Interdisciplinary in nature

(c) Normative in nature
o All of the above |

(1 mark)
Answer:
-(d) Factors of business economics are
1. Itis a scien ‘
2. It is normalive in nature
3. It is Inferdisciplinary in nature
4. Itis pragmatl

ThereTore answer will be all of the above.
[84] Which out of these are the features of capitalism?
"~ Profit motive :
(i) Human welfare

)
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_A) Work through price mechanism
{a) (hand (i}
b} {i) anc ()
S [ anc (@
(<} All of these
Answer:
{c} Features of a canital'st economy
1. Proft motve
2. Work through the price mechanism
3. A wgh degree of operanve efficiency
Therefore, human welizre 1s not a feature of capitalist economy.

(1 mark)

(5) Interdisciplinary in nature
{d) None (1 mark)

{e} The nature of business economics can be explained by the foilowing
poms. .
{i; Business Economics s a science :
# t « based on microsconomics and ‘also incorporates the

) ks nomative in nature. ie it involves value | ie. i
,. ) e tin iudgements i.e. it,
asg o.ﬁm wih ‘what should be', . ,
(v FﬁaﬁﬁmQ 5, nature e, it incorporates tools from other
discip. including Mathematicg, erationa
s e Op nal Research,

[86] Socialism ens yres

(&) Right to wory ?ws&a oeveiopment

(€l Icentives for etinigny it ik
i e e 1
: , mark)

4.30
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ny, production and distribution of goodg n

(@) Ina s the welfare of the comimunity as a wholg,

(87] Macroeconomics includes

a) Progduct pneing : { : .
Fmav\m&m-:m_ value of money (d) Location of industry

: ximising
m_BMﬁ“ Mw_,ﬂmmna and palanced economic development as the cey,
en

planning authority coordinates all resources in an efficient My,

_ ined priorities.
according to predetermi IR v
It also ensures the right to work and a minim g,

all people. However, no importance is given to personal m:..gé

and productivity.
Thus, option (d) is correct.

* (b) Consumer behavior -
(1 mey

Answer :
{c) Macrosconomics is the study of the overall phenomena oy,

[88] Exploitation and inequality will be more in

economy as a whole, rather than its individual parts. {t includes
(i) National income and national output
- (i} General price level and interest rates
(i) Balance of trade and balance of payment
(iv) The overall level ot savings and investment
(v} The level of employment and rate of economic growth
(vi} The externai value of currency.

(a) Socialism T Capitalism
(€) Mixed (d) Al of the above (1 mat
Answer : ; . . .

(b} In a capitalist economy,

all means aof production are owned#
controlled by private individuals for profit,

There is vast economic ine uality and social i i i o
wmmqm@m..m ‘&conomic ém:mmm of w.zm woo.wmn_w_hwwﬂﬂmoﬁw_o: i

m::w MMMM__%‘ economy, there is an equitable distribution of Wi
In a mixeg PROfunities for maintaining economic and social jusi*
rivate sectore ;. 1N€T8 I co-existonce of both the publc?
maogcﬁsm%qmm@%_.:o: frevents exploitation and inequality. T
of capitalism. O Iies and expioitationsare the charackf*

(€

D

[t
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89] Shyam: This year due to heavy rainfall my onion crop was damaged
Krighna : Climates affect crop vields. Some years are bad, others are
ood
m_nn : Dor’t worry - Price increase will compensate for the tall in quantity
supplied
Radhe: The Government ought to guarantee that our income will not fall.
In this conversation, the normative statement is made by

{a) Shyam {b) Krishna
{c) Harn - - Radhe (1 mark)
Answer : /\Eq

(d) Anormative statement is one which involves value judgements and
suggests what ought to be or what should be a particular course of
action under given circumstances. Statements made by Shyam,
Krishna and Hari are positive as they merely show cause and effect
relationships and ¢o not invoive value judgement. However, Radhe’s
statement shows a particular course of action should be-taken by
stating that the government ought to guarantee that income will not
{all.

3] Which of the following is correct?
(a) 49% FD! is atiowed in defence production X

— q

.
() s lat.dlalm

1> 0NG - T

{c) 74% FDI is now allowed in multibrand retails
(d} 100% FDi is allowed in insurance
Answer :

{b) 49% FDI is allowed in private sector banking

] A capitalist economy consists of -

(a) Central planning authority

(b) A mechanism io cecide as to what, how and for whom to produce

{c} Both (2) and (o)

{d) None of the above

Answer :

(b) A capitaiist economy does not have a central planning authority to
decide what, how and for whom to produce. It uses the impersonal
forces of market demand and supply or the price mechanism to
solve its central problems.

Thus, option (b) is correct.

{1 mark)

(1 mark)
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[92] As per the World Bank’'s International Debt Statistics 2017, India
continues tobe amongstthe _ countries.
(a) more debt (b) less debt
(c) more vulnerable /\m&\_mmm vuinerable
Answer :
(d) As per country comparison based on “International Dept Statistics
2017" of the World Bank, India continues 1o be among the less

vulnerable countries comparing wall with other indebted developing

counipes..—
(93] Applied economics includes
{(a) Regression analysis and mathematical linear programming
(b) Capital budgeting
ey Both (a) and (b)
(d) None

Answer: . 1
(¢) Business Economics has a close connection with Economic theory,

Operation Research, Statistics, Mathematics, and the theory ot
Decision Making. It is essentially a component of applied economics
as it includes the application of selected quantitative techniques
such as linear programming, regression analysis, capital budgeting,
cost analysis and breakeven analysis.
[94] Economic goods are considered as scarce resources because
L&ﬁ inadequate quantity to satisfy the needs of the socisty
(b) Not possible to increase the quantity
(¢} Limited hands fo make goods
(d) Primary importance in satisfying social requirements
Answer:
(a) An economy exists because of two facts i.e. human wants are
uniimited and the resources are scarce, i.e. there is an inadequate
) quantity to satisfy the needs of the entire saciety.
[95] Due to recession, employment % output
(a) Rises ;rises 5] Falls ; falls
(c) Risges ;falls (d) Falls; rises

{1 mark}

{1 mark}

(1 mark)

(1 mark)
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Answer: .
(b) During the contraction or recession phase of the business cycle,

there is a fall in levels of investment and mau_ov.aosm. d:., ,amo_.mmmm
in demand pulis down prices, investors confidence is at it’s lowest.
Employment rate falls and so 5 the output.

[96] Freedom of choice is the advantage of _

(a} Socialism o7 Capitalis
(c) Mixsed economy {d) None of the above (1 mark)
Answer:

(b) In 2 Capitalist economy, consuimers are benefilted due to
competitive forces, a variety of good quality products, and affordable
prices. This, not ‘only ensures freedom of choice but also the
‘maximum satisfaction to the consumers.

refers to the work area where surplus manpower is

empioyed out of which some individuais have zero or almost zero

margina! productivity, such that if they are removed the total level of

197]

output remains unchanged. -~
{a) Voluntary “AB) Disguised
{c) Structural {d) Technological {1 mark)

Answer: -

{(b) Disguised unemployment: A kind of unemployment where more
peopie are engaged in a work than required. Disguised refers fo the
work area where surpius manpower is employed out of which some
individuats have zero or almost zero marginal productivity, such that
i they are removed the total leve) of output remains unchanged.

(88] Sociaiist economy is _copmand o (o
{a) Seff-regulation .

(b) ‘Profit Orierned
/a\&\mga economy .

d} Allocation of

Ah.w.o‘&... o loapinces (1 mark)

(€) A socialist economy is also cafleq as “Command Economy” or
i By ned Economy”. This economy will not provide
e, mo&ﬂu work in the form of profit, Here, resources are

, 3 Ing 1o the commands of the central planning
requirements, e

as per market requirements

Scanney CA Foundation Paper - 4 (2023 ws_gg
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[99] A study of have increase in the corporate tax rate wiil affect Ny

ungmployment rate is
Macroeconormics
(c) Microeconomics

swer: | _ :
mww_ Macroeconomics is the study of the overall economic pheng,

or the economy as a whole: rather than its individual parts -
?mﬁm*oa» a study of have increase in the ooqnoﬁm.,m lax gy,
affect national unemployment rate is of Macro environmen

[100] A capitalist economy uses &s a principal means of m_§

(b) Descriptive economics
. (d) Normative economics (1,

resources. Tk
(a) Demand { upp

{c) Efficiency cav\ Price (1 mat
Answer: .

{d) A capitalistic economy uses price as a principal means of i
resources. Itis the economy system in which all the resoure;
owned and controlled by private individuals for profit.

[101] In a market economy all assets are held by:
(@) Investors \ Privately

(c) Government
Answer:

(b} In market all assets are held by private owners as they fixt
own prices and sell the goods at their own fixed price. Sodl
assets are held by private owners in the market,

[192] The branch of ecanomic theory that deats with problem of alo

resources.
Microeconomics {b} Macroeconomics
(c) Econometrics’ (d) None (tré
Answer: |
(@) The branch of economic theory that deals with probé"

allocation of resources is MICRO ECONOMICS.

As 3@8.8:0@.8 involves behaviour of different individuas’
. Organisation within an economic system.

(d) Jointly by government (1nd

[«
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tiy Product pricing
(i) Consumer behaviour
(iiiy Factor pricing
(iv) The economic conditions of section of people
(v) Behaviour of firms
(vi) Location anacwﬂé
arger production of

iture.

1) consumer goods

5 capital goods .

B} mm:n:_EB_ goods

{} public goods

nswer: :

) Larger production of capital goods would lead to higher production
in future. Since the resources are limited, every society has to
decide which gcods and services should be produced and how
many units of mm\o: goods should be produced. Therefore,
company should producs more of capital goods like machines,
equipments, cam efc. as these goods makes the economy strong
for the higher production in future. ,

fnich of the fotlowing is not within the scope of business economics?

} Capiial budgeting

)} Risk analysis

3} Business cycle

) Accounting Standards

nswer:

) Business economics may be defined as the use of economic
analysis to make business decision involving the best use of an
organisations scarce resources. It involves linear programming,
regression analysis, capital budgeting, break gven analysis and
cost analysis.

Accounting Standards is not within the scope of business
economics.

goods would lead 1o higher production in

(1 mark)

(1 mark)

[105]

4.36
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Which is the first book of Economics named as B (et o% 7_&&;
e The Wealth of Nations
(c) Nations of Wealth

{b) Economics

(d) Political Economy (1 mark)

Answer;

ta) Theterm Economics owes its origin to the Gieek word ‘Oikonomia’
which means household’. Till 19" century, economics was known
as ‘Political Economy'. The book named ‘An inquiry into the
Nature and Causes of the Wealth of Nations’ {1778) usually
abbreviated as ‘The Wealth of Nations’ by Adam Smith is
considered as the first modern work of Economics. :

[1086] Which type O

(c) Both (&) and (b)

red to i
(b} Absolute scarcity
(d) None

(1 mark)

Answer:
(a) The scarcity in economics referred as reiative scarcity. As the

[107] Gon

resources are limited and these resources have altemative uses
and wants of people are unlimited. Therefore, all wants cannot be
satisfied. .

As financial resources can be used for many purposes. it the
resources ware unlimited, people would be able to satisty all their
wants and there would be no econormnic problem. Altematively if a
resource has only single use, thenall economic problem would not
arise. y

er sovereignty is which of the following characteristics?

Capitalist economy (b) Mixed economy

¢) Socialist economy (d) Democracy {1 325.
Answer:
(a} ‘Consumer Sovereignty’ is the characteristics of capitalist

economy which states that consumer is the king under capitalism. -

Consurer sovereignty means that buyers ultimately determine
which goods and services will be prod uced and in what guantities.
Consumer have unbridled freedom to choose the goods and
services which they would consume. In other words based on the
purchases they make, consumers decide how the eccnomy's
limited resources are allocated.
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Qoone oF Resess BN
s o SI0B ._u«‘.fﬁd,.ydwﬂ}( ?x/

P ,ﬁ%ﬁ,mai..“ msm, Qm,.oxvvama..w
S < w Dag A Samuelson
2 Rosoes N3 None (1 mark)
o Aczw Seir y ,
B Socx ~ aems o Oynamic Growth and Development was
- Nﬁ: Sn. 2 Samueison. Who states that “Economics is the
suzy © "ow men and sooety choose, with or without the use of
ey O ey sosrce Productive resources which could have
Emrathee uses, o praduce varous commedities over time and to
J=rge Mem for cansumotion now and in the future of amongst
nous Deople and groups of society.
IS LS

o Dp— TPl Sconomie phenomenon according to their

; : (b} Empiricai
" S d lied
() App

{e} A postve o pure 838 ana'yses cause and effect relationship
- a»om?ﬁm‘ vanables but it coes not pass value judgements, 3
1 v 1he study of behaviour of different individuals organisations within an

(1 mark)

{1 mark)

= [114] In capitatistic ecanomy
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Answer: " t and purely theoreticat and analy,

: omics is abstract a : .

) Tmzwwmwﬂaoﬂ:m:m under unrealistic assumptions. 5.83@
mmmmmwmm Economics is pragmatic in ;.,.w approach as it tack,
,U«mo,__dm_ problems which the firms face in the real ioﬁ_a‘.

{112] Economics is term of Dynamic Growth and development definegy,

(a) Alfred Marshall (b) Adam Smith

(c) Robbins n\ﬁ)ﬁ.ms A Samuelson

Answer: : .
(d) The term Dynamic Growth and development is defined Dy by

famous author Mr. Paul A Samuelson.
[113] A socialistic economy is also called as:
(a) Profit oriented economy
(b} Self regulatory economy
A€l Centrally planned ecanomy

(d} Unorganized economy

Answer: ; .

(€) A socialist economy is also called as “Command Economy” o
“Centrally Planned Economy”. Here, the resources are allocaty

- according to the commands of g central planni ;

annin ,
therefore, market forces have no s 9 authority an
resources.

(1 may

(1 ma

ey Inequalities, exploitation
(&) Exploitation, equatities

(d} Non 8Xpioitation, inequalities

-y 8 i
piialism can ajsq lead to Nequality which may be seen &

(1157 1n whigh, o 59Ciety inneritance. @ MUCh highar proft than une
undamergar o CTY: COSt benaf analysig |
enta n:@ﬂ.gwgm8303< 5 S used 1o answer he
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&&\ z_xma economy (b) Socialistic economy .
(c) Capitalistic economy {d) Regulatory economy (1 mark)

Answer: )
{a) In a mixed economy, all the central problems of an economy is

solved keeping in mind the cost of the factors of production with
econdmic gains and social welfare.

[116] A system of economy in which-ali-the means of production are owned

controlied by the private individuals far the purpose of profits Is called:

(a) Sociafist economy \A5] Capitalist economy

{c) Mixed economy (d) All of these

Answer:

(b) Capitalistic is an economic system in which all the means of
production are owned and controlled by private individuals tor
profit. The government do not interfere in the management of
economic affairs under this system.,

{117] in which economic system production and distribution of goods and
services aim at maximizing the welfare of community as a whole?

{a) Capialistic economy (b) Normative -

{c} Mixed \ i Socialist economy

{d) In socialist economy, production and distribution, of goods are
aimed at maximising the walfare of the community as a whale. It
also ensures right to wark and minimum standard of living to all
peopie. However, no importance is glven to personal efficiency
and productivity.

{1 mark)

(1 mark)

(118] are responsible for all economic problems.
@ c:.hawma wanis - {b) Atterhative resource
% Scarcity of resource - {d) Others , {1 mark)
Answer: .

(c) Scarcity of resources responsible .of all economic problems
because if sufficient economic resources are available than ajl
problems will be automatically solve.

Scanner CA Foundation Paper - 4 (2023 Syllabus)

(119] Capitalist system offer incentives for:

(a) Efficient business decisions
(b} Efficient government decisions
(c) Efficient non-govemment decisions

A Efficien ic decisions
AnSwer:
(d) Efficient economic decisions ! 9

Capitalist system offers incentives for efficient economic decisions.

(120] Magro-economig is also called CONomics: .

(1 mark)

(a) Applied ) >um8mm_m
{c) Micro (d} Expetimental (1 mark)
Answer: j

(b) Aggregate
Macro economy s also called as Aggregate sconomy.
{121] The book “Wealth of Nations” was written by Adam smita -
(a) Alfred Marshall {b) Join Robinson
oy Adam Smith (d) Robert Malthus
* Answer: .
{(c) Adam Smith
The book wealth of Nations was written by ‘Adam Smith’.
[122] Rama : My corn harvest this year is poor.
Manoj : Dont wotry. Price increase will compensate for the fall in
quantity supplied., i
: §mmmm : Climate affects crop yield. Some years are bad, others are
good.
Bharti : The Government ought to guarantes that our income will not
fall. In this conversation, the normative statement is made by:

(1 Bmzc_

X me @_mam (b) Manoj
c} Meera Bharti 1 mark
. Answer: ‘e A :
(d) Bharti : ‘
The nommative statement is made by Bharti which means what
ought {o be.

A
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[123] In & mixed economy, there are . Sectors of industries.
(a) Two W] Three

{c} Four (d) Five oaz..o& o\.& (1 mark)
Answer: QWVMN»,W ,
{b) Three ‘ ak(
In mixed economy there are three sectors of industries.
[124] An economy exists because of two basic facts., ie, |
(a) Human wants are limited and re sources are unlimited
(b) Human wants are unlimited and resources are unlimited
%EBw: wants are unlimited and resources are scare
(d) Human wants are limited and resources are abundant (1 marik)
Answer:

(¢) Human wants are unlimited and resources are scarce.
Two basic facts of 8conomy are:-
{8} Human wants are unlimited
{b) Resources are Scarce.

125] An aconomy is called capitalist economy, when is given.
Right to private property 4
(b} Freedom of government interference
{C) Freedom of business choices “
(d) Discrimination (1 mark)
Answer:

(8) Right to private property _
An economy is called as capitalist economy when right to private
property is given

128] Coexistence of public and pri

(&) Capialist Economy

{c) Socialist Economy

Answer;

(b) Mixed economy

Coexistence of public and private sector is feature of mixed
economy. :

127] Which one of the are
(@) Product pricing )
(b) Consumer behaviour

vate sgctor is the feature of
Mixed Economy :
(d} Federal Economy (1 mark)

a comes under macro-economics?

A Foundation Paper- g0 m.\_.mog
Seanmey

4.42 roet ratas
oral price level m:amm%mu: of people
_\K}:e mmhﬂw conditions ofa
(d) Econo
o The general price lavel f interest
e ﬁmm Mwﬁwa* price level of !
e
normies. is also known as :
128] _.m_.wmcmaw.mm_a economy 18 als0 (b) Socialist economy.
_ e Capitalist economy (d) Communist economy
(c) Mixed economy
Answer:

5 Wuwmumwmwmwﬁwosw is also called as capitalist economy,
18562~

ity to mean :
use the term scarcity :
(129] Mmym%%%oﬁmw. MM roity and lack of resources in less devalop
countries.

iy Relative scarcity i.e. scarcity in relation to the wants-of the-socie)

(c) Scarcity during times of business failure and hatural calamities
(d) Scarcity caused on account of excessive consumption by the g

(1 ma

(1 Mar,

. t rates
of It est rate comes under Mag,

(1 Ma

Answer:

(b) Relative scarcity, j.e., scargity in relation to wants of the sogciey
In economics we yse the term .

{a) public €conomics .
{¢) income theory
Answer:

{b) Price theory

i

M

Micro econamine ; .
MOS8 also known gg price theory (self explanato

[ 31] The ﬂmgocw Yo
00k abbrey,
also considerey lated qg “The w T i
(a} Frederic msmw_ﬂzo First Modern Work of MM ot .Zmro:w s
(¢) Davig Ricardq : (b) arf aiCs, Was writienl

iChapte

An
(d)

[132] The
are
as:
(a)
(©)

An
(b)

[133] The
folli
(@)
{©)
An
(d)

[134] Stu
eco

(a)
o

Ang
(c)
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Answar:
(d) The Wealth of Nations' given by Adam Smith is considered as the
first modem work of economics.
132] The economic system in which production and distribution of goods

are aimed at maximizing the wakfare of the community as whole known

—
Ly Saciaiism

~{a) Capitalism
{c) Mixed economy {d) Communist economy
: {1 mark)

Answer: .

{b) Inasociaistic economy, there will be better utilization of resource
and it ensure maximum production. Equitable distribution of goods
or wezltr for all help 1o maintain economic and Social Welfare.

133] The Central Economics Problem does not deal with which of the
following economic problems? :

{a) What to produce”?

{¢) For whom to produce?

Answer:

(d) The Centra: economic problem is further divided into four basic
sconamic problems. These are:

~« Whnat fo produce? -
+ How to produce?
» Eprwhboem to produce?
. isi tobem } ?
134] Study of behaviour of ditferent individual and organizations within an
economic system Is cafled:
(a) Industrial Economics
{c)Micro Economics

{b) How 10 produce?

K&\E:@_,m to produce? {1 mark)

(b) Macro Economics
(d) Welfare Economics
¢ (1 mark}

Answer:

(c) Micro economics is basically study of the behaviour of ditferent
individuals and organizations with in the economic system. In
other words micro economics examines how the individuals units
make decisions as to how efficiency allocate their scarce
resources.

4.44 Scanver CA Foundation Paper - 4 (2023 Syliabus)

[135] The concept of socialist economy was propounded by
(a) Karl Marx and Adam Smith
(b) Frederic Engels and Adam Smith v
(c} Frederic Engels
,.\E‘v\x.m: Marx and Frederic Is
Answer: :
(d) The concept of socialist economy was propounded by Karl Marx
and Frederic Engels.” In this economy material means of
production i.e. Factories mines, capital etc. are owned by the
whole community represented by the state. A socialist economy
is also called as “Command economy” or cenirally Planned
Economy”. -
[136] Which of the following is not a study of Magro economics?

e Consumer behaviour (b) National Income

(c) General Price Level (d) Level of Employment
Answer: .

.{a) Consumer behaviour is not a study of macro economics. Macro
economics is the study of overall economic phenomena or
economy as the whole, rather than its individual parts. in macro
economics we study behaviour of large economic aggregates
such as overall levels of output. .

(1 mark)

(1 mark)

[137] Which one of the following is not the scope of business economics?

WJ[&y Cost Standard
(c} Demand Analysis

{b) Cost Analysis
{d) Inventory Management .
(1 mark)

Answer. _
(a) Scope of Business Economics are:

» Demand analysis

« Cost analysis ~ A
nventory management . |
»_Market structure and pricing policies

s Risk and uncertainty analysis
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138] Which of the following statement is correct? ,
%..xma economy is not always a golden path between capitalism

and socialism.

(b} Socalistc economy s not aiways a golden path between mixed
and capitaiism. - s

(c} Capitalism economy is not always a golden path between mixed
and socialism.

{d) Mixed economy is always a golden path between capitalism and
socialism. {1 mark)

Answer: :

(a) Mixed economy is not always a ‘golden path’ between capitalism
and scciafism. It suffer substantial uncertainty mixed economy is
characteriseC Dy excessive control by the state resulling is
reduced miensive constrained growth of the private sector, poor
implementstion, lack of efticiency.

139] The certral econcmic problem of an economy arises due to:
ity of resources relatives to their wants

b} Co-existence of private and public sector

{ci Gowvi. merferance in economic activities

(d) Federa’ structure cf constitution

Answer:

(a) Centra economic problem of an economy arises due to scarcity
of resources relatives 1o their wants.

140] Business Economics is essentiziy a component of Applied Economics
as it inciudes appiication of selected quantitatives techniques which
technigue is not included in it?

(1 mark)

Economic analysis
{d) Linear rammi 1 mark
. prog ng )
(%) Business Economics is essentially a component of Applisd
mbaa&a& as It incude, application of selected quantitative
techni Que stich as finear programming regression analysis, capital
budgeting, break even analysis and cost analysis.

. ﬁ: ;

4.46 its approach because?

- is pragmatic in
Cical problem which 1

m
ckies practical problem which the fir
. m which the firms faces due to lack ¢

_ no .
{141] Business eco Tanes s 10 Wi

“(b) It ta
policies .
(c) It tackles practical

direclors. ~—
(d) Business economics |

proble

d purely theoretical.
g apstracts anc p 4 i

i ics is pragmatic i
giness economics 4 |
o Mmo:oiam is abstract and purely theoretical and analysis

economics phenomena under unrealistic assumption and it tacke
practical problem which the firm faces in real world.

n its approach because Mier
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m

[142] Socialist Economy is alsc known as
(a) Private Economy
(b) Consumer Economy —
%V\Om::m_z Planned Econorriy ——
{d) Mixed Economy = {1 mark
Answer: e

(e} A sociafist economic system can aiso be called as comman
economy, centrally planned economy or controlled economy
because the means of production and distribution are owned,
controlled and reguiated by tha public, either through the state of

; through cooperatives.
(143] The term socialist economy was coined by
(a) Altred Marshall (b) Albert Einstein

(t) Joel Dean /¥3\ Karl Marx and Friedrich Engels

(1 mark)

{Chag

[144]

[145

[14€
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Answer:

{d) By the late 19th century, after the work of Karl Marx and his
n&w@gmﬁq Friedrich Engels, socialism had come to signify
opposition to capitalism and advocacy for a post-capitalist system
based on some form of social ownership of the means of
production. |

Most important feature of capitalist economy is nﬁyﬁﬁﬁmﬁm

3 0-TLH

. im i womsa

(c) Inefficient allocation of resourcas

{d) Socialism

Answer:

{b) Competition: Competition is the most important feature of the
capitalist economy. Competition brings out the best among buyers
and seliers and results in efficient use of resources.

Mr. Rohit invited a consuitant for knowing staff requirement, consumer

behayiour and product pricing. The approach consultant is looking—

¥ Micro Economics {b) Applied Economics

(c) Macro Economics {(d) Econometrics

Answer:

{(a) Microeconomics is the study of what is likely to happen
(tendencies) when individuals make choices in response 10
changes in incentives, prices, resources, and/or methods of
production. These groups create the supply and demand for
resources, using money and interest rates asa pricing mechanism
for coordination.

Which of the foliowing is not included in Micro economics?

{(a) Wages of workers in steel industry

{b) Location of a particular firm

{ey General pricing level in the market

(d) Price of a product

Answer: . :

(c) General pricing level in the market is not included n
microeconomics. Business Economics makes use of

(1 mark)

(1 mark)

(1 mark)
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microeconom: i ;
torecasting n_wma:ﬂ,ww wma M%mm_wammw.m_maﬂdw e ol
' LGy ,inventory management,
quxmm structure and pricing policies, resource allocation, theory
ol capital and investment decisions, profit analysis and rigk and
unceriainty analysis.
[147] A mixed economy refersto
{a) all economic decisions are taken by the central authority
(b) all economic decisions are taken by private entrepreneurs
Lisyta-existence of hoth private and public sector

{(d) none of these.

Answer:

(c) Amixed economy refers to co-existence of both private and public
sectors. The mixed economic system depends on both markets
and governments for allocation of resources. In fact, every
economy in the real world makes use of both markets and
governments and therefore is mixed economy in its nature.

[148] Which of the following is not within the scope of Business Economics?

(a) Capital Budgeting (b) Risk Analysis

(c) Business cycle \_{&¥ Accounting Standards (1 mark)

Answer:

(d) Accounting - standards s not within the scope of business
economics. The scope of Business Economics s quite wide. It
covers fnost of the practical problems a manager or a firm ,momm.
There are two categories of business issues to which economic
theories can be directly apptied, namely:

1. Internal issues or operational issues (this can be solved using
Micro Economics) :
2. External issues or environmental issues (this can be solved
using Macro Economics) .
[149] Which are the areas that come under, Macro-economics?
(a) Demand for a firm's product
Apy-Ganeral price level and interest rates
(c) Location of Industry
(d) Price of a product.

(1 mark)

(1 mark)

L
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Answer: . :
{b) A few areas that come under Macro Fconomics are:

() National Income and National Qutput
{i) The general price lavel and interest rates
(i) Balance of trade and bajance of payments
{iv) External value of currency
{v) The overall level of savings and investment, ~.5a
{vQ) The level of employment and rate of economic growth.
[160] Economics is diaew E .

\$&Y" Driven by prafit ) Driven by mma_.amzm

{c) Oriven by emotions {t) Driven by Altruism (

Answer: .

{a) In turn, production tends to increase to satisfy the am.am:.n since
producers are driven by profit. Hence, economics is driven by
profits.

{151] Which of the following is cemerit of capitalism:
Léaj There is precedence of property rights over human rights

(b) h tunctions in domestic frame work :

{c) High degree of operative efficiency

(d) None of these

Answer:

(a) Private property rights are central to a capitalist economy, its
execution, and its legal defenses. Capitalism is built on the free
exchange of goods and services between different parties, and
nobody can rghtfully trade property they do not own., Conversely,
property rights. provide a legal framework for prosecuting
aggression against non-voluntary means ot acquiring resources:
there 18 1o nesd for capitalist trade in a society where paople
could simply take from others what they want by force or the threat

1 mark)

{1 mark)

of force. ’
[152) wnm..a.? definition in economics in given by
M% w_mgmw “ (b) Adam Smith
.>=osrm y ) Robbins : {1 mark)

(d) c._.ww.amowrgmm definition was given by Prof. Lione! Robbins in his
: Say on the Nature and Significance of Economic

scanmer CA Foundation Paper = 4 (2023 Syllabug)

4.60 : .
| ated, “Economics asihe sciengg

i .Hest (
i Mwﬂwsocq as a relationship between andgq
ich have alternate uses.

pe explained through:

Sclence’, publishe
which studies human
and scarce Bm_m:m. wh

fairness 10 18X
b). incidence to tax’ ;
Mow effect of tax on incentiv

{d) none of these.

(1 mar)

il i i lained thraugh tairness to tay
tive economics can be expla Ay 1ess \
Amv umn_ﬂmﬁmé economics (as opposed to positive economics) is apay

of economics whose objective is fairness of what the outcome f
the sconomy or goals of public bo__Q ought to cm .m_moo:oa.%
commonly prefer to distinguish normative economics ( s_“:mn ougnt
to be" in econamic matters) from positive economics ("what i8"),

[154] Socialist Economy is also known as :
(a) Private Economy (b} Consumer Economy

(c) Command Economy (d) Mixed Economy

Answer:
(c) Socialist economy is ‘also known as “command economy’ o

“centrally planned economy”.
[155}iPredominance of BUrgaucracy under which system?
(a) Mixed Economy {BY Socialist Economy
{c) Capital Economy (d) None of the above
Answer:

{b) Socialist economy involves the predominance of bureaucracy and
resulting inefficiency and delays.
[156] Find the correct statement:

\JaFMixed ecanomy is not a golden path between socialist & capitls!
08303%

(b) Socialist economy is not a golden path betwaen mixed & captalsl
econamy

(1 mark)

{1 mark)
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jc} Cepntak¥st economy is not a golden pain between socialist
economy & mixed economy

idi None of t"e above

Answer:

{al Mixed economy S not always a goiden path between socdialist and
capialist economy. Sometimes, it is very difficult to maintain a
proper balancs between pubiic anc private sectors.

[157] Mo 8CONOMICS (s also xnown as!

‘al pubii eCONOMICS

{¢)} income theory

Answer:
&) Price theory
Mico econon'es 1S also known as price theory (self explanatory)
[158] Normative science reters to:
{a) Wha! to Produce
o) Whom to Produce
ig} Normatve science s prescriplive in nature. It involves value
progements. (L is prescriplive in nature and suggests ‘'what should
ve' a particular course of action in different circumstances.
{159] Business is Pragmatic in approach:
S e {b) Faise
{2l Nane of the above {d} Uncertain
Answer:
{3} Business econamics is pragmatic in its approach as it tackles
practical probiems which the firms face in the real workl.
180] Centrsi problems of €CONOMICS -
r\rﬁ\ Scarcity of resources = (b) Poverty
e} Unemployment &\ All of the above
Answer:
{&} The Cenral problem of economy is the scarcity of resources. The
resousces ane Imited, society has to decide the cantral problem of
SCarcity af resources. ,

(1 mark)

price theory

{¢} cemand theory ﬂ 1 mark)

{b) How to Produce

{d} What should be {1 mark)

{1 mark}

(+ mark)
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[161] Business economics being
EEHBP .

{a) Interdisciplinary

{c) Positive

Answer:

{d} Business econiomics being pragmatic in aporoach, tackles
practical problems and deals with them on practical and theory

eeeee in approach  tackles m«mﬁwﬁ&

+ (D) Normative

L Pragmatic {1 mark)

basis. .
m 2022 - DECEMBER m
[162] __ economic system is self-regulating and run by invisible
nands. )
{a} Mixed {b} Socialistic
\_izrTCapitalistic {d} Plannad {1 mark}
Answer:

{c) Capitalism is seli-regulating economy and works automatically
through price machanism. The “invisible hands® is a metaphar for
how, in a free market economy self-interested individuals operate
through a system of mutual interdependence. :

[163] Indign econcmy is classified as:
Mixed economy {p) Capitaiist economy

(¢} Socialist sconomy (d) Free market economy (1t mark)

Answer:

{a) India has a mixed economy, therefore, public as well as private
entities, co-exist.

[164] The basic problem of scarcity gives rise to:

{a) technological problems - (b} social problems

{c} culural protlems \Ug}-economic problems

Answer:

(d) The basic problem of scarcity gives rise o economic probiems.
The basic problems of an economy are hat resources available
are scarce and our wants are unlimited. Hence, choice is made to
aflocate resources to afternative uses is such away that maximum
satisfaction can be achieved.

{1 mark)

A
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of all economy?

ds or capital goods
hniques or NO

[165] Which of the following is NOT a basic problem
{a) Whether to produce more of consumer oo
(b) Whether to lay emphasis or labour intensive tec
capital intensive techniques
(c) Whether to produce for rich people or for poor unon_m
. rM‘&\ Whether to accep! iQreign direct investment in the mno:w“:%mqs

Answer:
{d) The basic problems of ail economy are:
1. What ¢ to produce more of consumer
goods T
2. How f labour intensive

or caplal intensive techniques a
3. Forwhom to produce - Howthe goods and services should be
distributed among the members of society, i.e., decision abouit
shares of differsnt people in the national cake of goods and
services.
4. What provision should be made for economic growth - How

much saviig and investment wou e made for future
progress.
[168] =P involves the predeminance of bureaucracy and resulting in
inefiiciencies and delays. .
e m.nﬂm,mmun economy (b) Capitalist economy
{c) Mixed economy (d) Free market economy (1 mark)
Answer:

{a) moﬁmr@ economy involves the predominance of bureaucracy
resulting in inefficiencies and deiays. :
[167] Capitalist system offers incentives for:
(a) man.a.a business decisions
(b) man..ma govemment decisions
{c} Efficient fon-governmental decisions

ient economi i
MIC decisions and their implementation.

undation Paper - 4 (2023 ms_mgg

seanner CA Fo
b Indian Economy’ is a pgy &
w the in o
: -t ipact of COVID-18 00 U s | -
[168] ‘Analys's o”u_hn_vﬂo%_om (b) Micro mmovzmmwz omics (1 [
o) momcs sliding (5N My
(c) ECO .
Answer: the performance of econanm,

(a) Macro

ics focusas on Uk ! -
mooﬂu :Moo:oa_.o output, inflation, interest and *oﬁg

f payments. Poverty redyg;
rates, and the balance o i > HCloy,
Mwmﬂ_wmmmzﬁ and sustainable growth are only possible with Soung
nd fiscal policies. : .
monetary a p has caused direct impacts on iNcome,,

The Covid-12 pandemic ;
to mﬁmamea deaths, workplace ma.mm:,".mm_ma and qoaco:gs
productivity and has created a negative supply shock,

manufacturing productive activity slowing down a:.m 1o gloyy
supply chain disruptions and closures of *mﬁoﬂ_om. Thegs
consequence have impacted the Indian economy on a mgy

level.

changes

[169] The ‘communist manifesto’ related tc socialist economy propoundy
by Karl-Marx and Frederic Engels was published in:

{a) 1950 _ ) 1848
mv 1849 (d) 1951 (1 ma
nswer:

(b) KartMarx in 1848 and Frederic Engels published the "Commun

[170] ¢

(©) Mixed

Manifesto’ related to sacialist &économy.
vareignty’ is a feature of
Socialist
{d) Command

Capitalist
{1 mark)

Answer:
(@) ‘Consumer Sovereignty’ is the characteristics of~ capialst

Mwmmm_ﬁwz E%A_un_._ states of that consumer is the King under
aﬂmqam:m.é:%% umer sovereignty means that buyers ultimately
RGN o goods and services will be produced and in whe!
goads m:m_ Suiner jm<® unbridled freedom to choose e

 Services which they would consume. In other words

based on the purch
o 1 renases they makes. Consyy i |
mn033< 8 limited resources are m__oomgma.ao_.m o
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[171] Which one of the fallowing is not a central problem of an economy?

(a) What to produce? {(b) How to produce?

( hen to produce? (d) For whom to produce? (1 mark)

nswer: . :

(c) Every economic system, be it capitalist, socialist or mixed, :,mm to
deal with this Central problem of scarcity of resources relative to
the wants for them. This is generally called ‘the Gentral economic
problem’. These economic problem are further divided into four
basic economic problem. These are:

« What to produce?
« How to produce?
» For whom to produce?
«  What provision (if any) are to be made for economic growth?
[172] The price of hot dogs increases by 22% and the quantity demanded
falls by 25%. This indicates that demand for hot dogs is:

Yar Elastic (b) Inelastic
{c} Unitarily elastic (d) Perfectly elastic (1 mark)
Answer:

(a) Price elasticity of demand expresses the responsiveness of quality
of a good to a charge in its price, given the consumer’s income,
his taste and prices of all other goods.

Price elasticity = Ep = % change in quantity demand % change in
price

Ep= 22=1.13638

(173] Which of the following is the central problem of economy?

a) Scarcity of resources
(c) Poverty

Answer:

(a) Scarcity of Resources

The Central Problem of Economy is scarcity of resources and
unlimited wants.

(b) Unemployment

(d) Inflation (1 :._m_:a

4.56 Scanner CA Foundation Paper - 4 (2023 Syllabus)

[174) Economics is classilied into: /\A‘S\
(a) Normative and Positive Micro and Macro
(c) Internal and External {d) None of the above
Answer:

{b) Micro and Macro _
Economics as a whole is classified 56_ Micro and Macro

Economics. :
[175] Under which of the following economy the consumer have limited

freedom of choice?

{1 mark)

Q‘&\won.m:mﬁ (b) Mixed A 4
{c) Capitalist {d) Restricted (1 mark)
Answer:

(a) Socialist

Since, Socialist Economy is planned and enrolled sconomy so
consumer have limited freedom of choice.
[176] Which of the following is not the Subject matter of Micra Economies?

(a) Consumser Behaviour |\ _{ey EQreign Exchange Rate

@\W\\%msccq Qm:%@._ifEvroomﬁ._o:o::acms

Answer: :

(b) Forelgn Exchange Rate
Foreign Exchange Rate is based on Macro Economics.

[177] Which of the following is one of the merits of socialism?

(@) 'mporiance given to productivity

(b} Importance given to personal efficiency

,.\?‘W Rapid Growth and Balanced Economic Development
{(d) Incentive for Economic Decision
-Answer:

(c) Rapid Growth and Balanced Economic Development .
Socialist Economy is concerned with social welfare and equitable
distribution of income which leads to rapid growth and balanced
economic development,

[178] Capitalist Economy solve their economic problems through which of

the following? 3

(@) Central Planning Authority

by Price Mechanism

(1 mark)

{1 mark)
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{c) Acminstered Prices S
a. Voting by Consumers
Answer:
{b) Price Mechanism e

Price Mechanism helps in allocation of

Economy. _ , e od and
178] An Economic system in which all means of procuction ase own

.ﬂéiggnzémsgsa:maa 6n mq%
Emammgsos,\ %ﬁﬁ.ﬁi moo:o3<
(c} Normative Economy Both {a} and (b)
Answer: .
(d) An aconomy is calied capitalist or a free 32.6.. economy of
laisse” faire economy in which all means of production are owned
and controlled by private individuais for prof, since privatle
property is the mainstay of capilaism and profit motive s It
ohserving force.

(1 mark)

[18C] “The Nature and Cause of Weaith of Nations  abbraviated as “The

Wealth of Nations" which is also considered as the tirst modern work
of economics was wrillen by

(@) Frederick Engels (b) Karl Marx

{¢) J.B Says Adam Smith 1 mark
Answer: r\iw A w
(d) Adam Smith

Adam Smith published his masterpiece. “An enquiry i
! iry inic the
A nature m causes of wealth of nation” in the year < 776.
187} Economucs is originated from greek word olkonomia which means:

éwm:oa {d} None of the above (1 mark)
(2} Household

‘Okonomia’ is househoig management,

<canmer CA Foundation Paper - 4 (2023 SyRabey
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[182] Choose e correct match:
(1 Cavpitalist ECONOTY

(i) Socialist Economy

(a) Price Mechanism & Centraily Varrg
( ,

(o) Price Mechamsm

{cy Centraly Planned

(@) A1B) () - (). (i) - (@), (i} - (e}

() (i) - (e). () - (b), (i) - (@) (1 many

(if) Mxed Economy

(apf] - (0}, (i) - (c). {iii}
MG () - (). () - fe), (i) - (@)
Answer: 08 -1
a) (i)~ (B). () - {c). { ) |
“ mwmhxﬂm b .@8“93,\ works through caﬁ Bon:m;gr ..a_nﬁl
works through centrally planning autnority while 3?@@@8@3
combnes botn the pnce mechanism & planning authority.
'183] Kar Marx and Froceick Engols propounded "Tho Comms
Manites:o” which was published in roigtad to:
{a) Can”alist gconomy T Socalist economy
€] Mixad aconomy (d) Free markot economy
Answor:
() Socialist economy
Tre commurist Manfesto’ by Kar! Marx and Frederick Tnge
propounded socalism
[184] Business economics is __ an approach.
(@) Postive in nature AT Pragmatic
5 Fur solence (d) Independent
Answer:

(b) Pragmatic

Business economica is pragmatic in apgroacn as it tries 10 3%
he reai problems that the firms face.

[185] Larger production of __ . 9ouda would lead Lo higher prods®

SEEQF
(al Consumer goods “67 Capi .
€) Agricultura’ goods " ‘
>..zs.5 a A_ev,ﬁse&aa

{b) Capital goods
sjgﬁg. 0N of capital goocs woukd lead 1o higher pros”

(1 ma¥

(1 nat

(1 et
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186) Capita’ intensive technigue would get chosen in &.
(&) labour Surplus Economy where the relatrve price of capital is
lower.
{b) gapita! Surplus economy where the relative price of capiat is
K\M_H@.
(c) developed economy where technology is better.
(d) developed economy where technology is poor.
Answer:
{b) Capital intensive techniques would get chosen ir a capita’ surplus
economy where the relative price of capital is lower.
187] Explgjtation and inequality are_minimal under
Centrally planned economy
aﬁﬂ\ Capitalism economy
) Mixed economy
{d) All of the above
Answer:
(a) Centrally planned economy
Under a centrally planned economy, (a8 capitalist eccnomy),
exploitation & inequality are minimal.
|88} Which of the following is not one of the four central guestion that the
stucy of economics is supposed to answer?
(& When are goods preduced?
(b} What to produce?
(¢} How to produce?
(d) What provisions are 10.0e made for economic growth? (1 mark)
Answer:
{a) When are goods produced?
The tour centra! problems of economy does no! include ‘when 10
'88] A firn wants 10 produce toys for the children and he wants 10 know
how much quantity it would produce. How firm will overcome this
probem.

{1 mark)

(1 mark)
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{b) What to Produce?
{d) None of these

{a) How to Produce?
{c) For whom to produce?
Answer:

(b) What to Produce?
What to produce answers the question to ‘how much to produce

(" mark

as well.
[190] Which problem arises as a result of scarcity of resources?
wi@r Economic problems {b) Sociai Problems
ic) Cultural problems {d) Ncne {1 mark
Answer:

(a) Economic problems
Scarcty of resources arises as an economic problem,



